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o PV AT BT 5 I % FT FIT-0H § JRT §T 8 T F97 35 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 38§ questions.

o gheEreff o7y T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ (@ 98 FrRET #Y o [ geT9A §U 7 & 8, qhEr & I 59
T g A aar @hwre & REr ki

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Aar &

All questions are compulsory.

(i) 3797 F7% 1 @ 35 7% TGS F97 81 JA% 97 1 37 H 81 [RAFEN 57 597 %
g g

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer these questions as per instructions.
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(2) 5630/(Set : C)
@ - =i sglamediq 797 % el [4weq giag
Instruction : Select the correct option of the following multiple choice questions :
1. S qURE 9Ed % ISR 1
() Aferemian, st
(B) SAtierd, arl
(C) om, o
(D) THRGIGE, JH
The examples of water pollinated plants are :
(A) Vallisneria, Hydrilla
(B) Oxalis, Viola
(C) Mango, Peepal
(D) Amorphophallus, Yucca

2. = ¥ § -91 TFRTE W H F@ S ? 1
(A) STHETHH (B) Tig™ I A
(C) dre (D) SHIOX-&

Which of the following is a contraceptive method which is not made-up of
rubber ?

(A) Diaphragms (B) Cervical caps
(C) Vaults (D) Copper-T
3. = & § d-|1 gugwel 8 ? 1
(A) Tt
(B) Yy
(C) TT
(D) & & @+l
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Which of the following is homozygous ?

(A) Tt
(B) Yy
(C) TT

(D) All of these

4. A TR HI-A1 & ? 1
(A) UAA (B) UAG
(C) UGA (D) ¥ g

Terminator codon is :

(A) UAA (B) UAG

(C) UGA (D) All of these
5. AT © 1

(A) T S A

(B) S S I

(C) SHESIST Sva T

(D) & @ &S T

Pneumonia is :

(A) Viral disease

(B) Bacterial disease

(C) Protozoan disease

(D) None of these
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6. 1945 yieifds &l @S & [T HH-8 I8 B Aad QR o ?
(A) AT
(B) =
(C) IR
(D) T |

Who got Nobel Prize for discovery of Antibiotic in 1945 ?

(A) Fleming
(B) Chain
(C) Florey

(D) All of these
7. FReqg 997 ¥ g 9 @ T2-52 B 5T 9 B IR & FROT e & 7
(A) St

(B) e SRS A9
(C) “EeeM I
(D) ¥ g

Large holes in 'Swiss Cheese' are due to production of a large amount of :

(A) O, gas
(B) CO, gas
(C) N, gas

(D) All of these
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8. I @ HF-TN IO URY IR Bl HIEHN BT H TS & FH A & ? 1
(A)  TEESTEA
(B) e
(©) T
(D) ¥ q H& T
Which of the following enzyme is used to break plant cell wall ?
(A) Lysozyme
(B) Chitinase
(C) Cellulase
(D) None of these

9. TS 99 ¥ ST & w7 1

A) faefE A
(B) faei® = B
(C) fqer= C
(D) fdef = D
Golden Rice is rich in :
(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D

10. FrEd +/- fha UReafta fram @ efid & @ ? 1
(A)  GEGHIRAT
(B) wf
(C) ARSI YISl
(D) 9THETT
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The sign +/— shows interaction :
(A) Mutualism

(B) Competition

(C) Amensalism

(D) Predation

fdsr : Sfaa =] &R Ry @] &1 gid %01 o7 997] % 37 @@ 47 & 9= 7 qrrl 4 &l
Instructions : Fill in the blanks by appropriate words. Answer of other questions may
be given in one or two words or sentence.

12.

13.

14.

15.

16.

17.

18.

FAEThee [T § BHRACET B oovvennnnn | 1
Karyotype in Klinefelter syndrome is .............. .

SRR @ AB &7 Sl T .o 2 1
The genotype for blood group AB is .............. .

EST &l I &0 ford| 1

Write down the full form of EST.

.............. ¥ 0% TR JRdeRs (AR JFEN SRhEhe) Ta0H-R O T & 5'

PR ) S B 1
In ooooieiinn. an unusual nucleotide (methyl guanosine triphosphate) is added
to 5' end of hn-RNA.

HHIGS HEAGT TGD B v R W Reret & B 1
The terminator is located towards .............. end of the coding strand.

e &1 & 7 1
What is Euchromatin ?

Tehel HehY I GAFTI GRS 1
Define Monohybrid Cross.

"PMC" & T &7 fafay 1

Write full form of "PMC".
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19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

(7) 5630/(Set : C)

e | TH IE F [GEIR BT 1
Expand ICSI.

TF ARl P qLSfaNT] & FEd © 1
Why HIV is called Retrovirus ?

el & AP R & AR A & e 9 | R s § gferferdt (1ga)
SFERAT Bl © o 1] & T B B 1
The yellowish fluid .............. secreted by mother during the initial days of

lactation has abudant antibodies (IgA) to protect the infant.

TEHEES T B R L THT | & el 2 1
Typhoid fever could be confirmed by .............. test
AEFRAARA-T BT FAT ST AFaAqT H .o FRE B w9 F B o B 1
Cyclosporin-A is used as an ............... agent

St Sawne? 1
What is BOD ?

FargfefeaT kT @ ... EESICE NI 1
Clostridium butylicum produces a acid called ............... .

USIfRTaST &1 1 HE © 7 1
What is the role of endonuclease ?

NI IRCIEdC I R e 1

Write down full form of PCR.

ST A g TRA QTR S @ ekt M € ol S B ghel @ Frepita @
o Bl AR B Fed ]

The separated bands of DNA are cut out from the agarose gel and extracted
from the gel piece. This step is known as ............... .

6 (Bt) Na-fT o g ..o Rt s B ’

Bt toxin is produced by a bacterium ............. .
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30. ‘TE T o # T &0 ford 1
Write full form of 'ADA' gene.

31. fa RHEid W ‘TaRsT & H 8 ? 1
On which principle ELISA is based ?

32. Hw-Ffwaa w8 ? 1
What is Aestivation ?

33. TP HI IRAMNG H 1
Define Mortality.

34. UISifaar 1 & ? 1
What is Parasitism ?

35. a9 2002 H ............ § aa feed WX fasg R @ e gl 1
World Summit on Sustainable Development was held in .............. in 2002.
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